wntsosv7 | D=DRIVI I AT

Strong clamping 17_ hﬁ\ U ‘y 70

WORK HOLDER SYSTEM

SMART GRIP

SEMI M0 T—I9952VITIATL

EXHNBSRE - M TARIDIERE< Quick Change
EEIAMKIET D] type

Workpiece clamping systems

for 5-axis machines

Rreduced set-up time and machining
time lead to drastically reduced pro-
duction costs!

JL499F T

_ HSKZZ

A 4 YA RROU2OZVT TSVIRIUE FIT7—I
Vise Side screw clamping Flange mounting ‘ Dovetail

aVINI Bk

Compact

MST

o ==
M'S T corporation 1211



AY—=NIVUY T 94y IOFI I
SMART GRIP Quick Change type

& 79— IV%5 work HOLDER

YA4FAOVUa

HT5—)b ISYIIYVH 9597

N1

Dovetail Flange mounting Side screw clamping Vise

€® \NYP HEAD

L |
W vsT

HS A19=T1—R
interface

J—ORIWIENY REDBLISA VT —
T1—AZlE. V=ILikILF v+ oELT
REDH D ISO D HSK-A 71 T=FKREL
TLET, BEMLEGRBHRIRCTEDY VT
WIEFR AR THOIEN S, EUBEITEIE
EMERDBEZERELFE L.

We have adopted the world standard
HSK-A type, time-proven tool holder
shanks for the interface coupling be-
tween the work holder and the head.
Superior bending rigidity and position-
ing accuracy are achieved despite the
simple method of changing holders,
which makes also automation possible.

2-face
contact



'S FEFEPVD—I3 i ENERED
Quick workpiece changing and off-line setup.

'S BE-dVI\Ub
Light weight, Compact.

D—IRIVIDIARIELVF 1 DTREEICTEF T, HEREDH
A[BET. H5HUHT—0ZT—IRILAICEY NUTEIFIFTLIC
ROIMIHITAF S,

Easy work holder changing using just a wrench.Off-line setup

is possible, so you can start the next machining quickly when
the workpiece is mounted to the work holder in advance.

A

AVINT MERARTERWER T

\ 4

BEDHEERMT—TILDEEHR/IBRIC
MASENETT, T—TJIZERETES 5 8
IITICEATY,

The load on the machine

table is minimal due to
its light weight. It works

for 5-axis machining, I%EL\
where the table tilts.  #Z Short
Hollow f

BOW-OVINT K~
Short - Compact

SMART GRIP achieves superior accessibility thanks to its compact body design.

Interference
A\ 0
8
\’\ea\nl
AoO0—IVFvvo RIVIAR
Scroll chuck Machine vise
DEVDOh AL TN ISV T o e | )
Bl E IR N Y S e 4
Strong work-piece clamping despite limited clamping area. ’ PEL . .
Cost savings when working with expensive materials. 4 B ﬁ%
L/ .. O v
— U | 37\::\)
3mm~ ?.ﬁe.\g“'\.
W
\‘—\ : ( ) \,‘\é“" act
T oo
ANV—hrOS5UT iy - Sl S
Parallel clan?pfng 977— ”197J7 \,2‘_6“36
Dovetail clamping | ‘-\te“
FIF—I TSIV K HBARAOVU2I950T
Dovetail Flange mounting Side screwclamping
— O bE—d ™
WAHISY T TElEEIMI
Achieves ultra-rigid machining thanks to its strong clamping force.
> 300 N
|‘ " # Thrust force
ol Avk o=z 6300nN
HEAD WORK HOLDER
o Y ‘ Y8172 b (7RI NT)
Cutting test(Drilling application)
e I B:¢o5@ERUL
J m Cutting tool %\'a,ES Carbide drill
e »25 B % % : 1273min:
Rotation speed
B ocmmmHsKk  FIF-LISUTER % D 1 190mm/min
Two face contact Dovetail clamping system Feed

L |
W vsT



’\‘y F Head

RZaF7IISVTR Iy
Manual clamping hole
OA
Ny
* A
D2 f——— 1T — - D1
Y
—
Y
H
F125H34— AB3—70 - H >
9590 WELYF (@b
.C. (kN) Y14 (N-m) 5
elele)z il ¢D1 ¢D2 A s FezdD Clamping | Size of clamping | Clamping
force wrench torque
F100H21—A 40— 50 HSK—A 40 50| B0 |100| 256 |M 6%x30 | 55~ 85 10 3 4 1.7
F125H34—A 63— 70 —A B3| 70| 80 |125| 30 |M 8x35| 80~100 20 5 13 3.8
F200H53—A100—110 —A100 |110 |125 | 200 | B0 | M12x50 | 125~160 30 8 40 13.9
WATvay e757% M Option o Adapter
W ZERER  oT/\VRNLLUYF eEfJIFMRIL x4y M Standard e T-handle wrench eFixing boltx4 pcs.
W & E  eHIFICENZaATIVI SV TNDRETT, accessories _ _ _ _
T TERNESE T Y TIEHER LIS, H Note e The manual clamping hole is required for mounting.
o IR T — D ILICED B RELERMEDED FITDTHHMEGE LS, o Use the adopter, when you cannot mount it.
e Consult us about the custom-made products for your machining table.
T T T T T T T T T T T T T T T T T T T T T T T T T T T T T — A
ke 3
3 E. - . — = L N S
(IERDHFEE Positioning accuracy BSOS EELAIE RS E

High-accuracy positioning methods for

Bt E cldellzlel)
Consentricity rotation direction
FyFIO—TTREBBICRENTAET,

|
|
| |
I I
|
| Zimﬁﬁ'ﬂ Tum [ £ - L The touch probe allows quick and easy
|  Z-axis direction * ; - ! correcting.
| |
| ]
|

CEspall

Rotation direction

T *fii A 40 40 BLUM B85 wFI0—7
T 2o BREY Y —
L = A 63 83 High accuracy touch probe.
‘4—» AT00 | 100 TC50 / TC52
| v i i o L_ _____________________________ 4

AR TSV IOMBCHBEUVCBDEIERT7Y T7BREVELEITDTBREEELIEE,

In the case where you can’ t mount the head directly to your machining table, please use
this adapter. We can supply an adapter blank that is customizable and also manufacture a
special adapter just for you. For more information, please feel free to contact us.

Fig. 1

8-M6 2230 ;gb

F200H50 - AB3

. i!ﬂi'\w_l‘ﬂ"fx -
CODE Fig.| T oD | oH G1 Ga P.C.D ﬁgggcsaiglee
F160H32—A 40 1 20 | 160 | 32 | M 5x20 | M 6x20 80~125 A 40 2.6
F200H32—A 40 25 | 200 M 8x25 | M10x25 | 100~160 5
F160H50—A 63 1 20 | 160 | 5O | M 5x20 | M 6%20 80~125 A 63 2.4
F200H50—A 63 25 | 200 M 8x25 | M10x25 | 100~160 4.7
F250H50—A 63 2 30 | 250 M10x30 | M12x30 | 140~200 9.4
F250H80—A 100 2 30 | 250 | 80 | M10X30 | M12x30 | 140~200 A100 8.7

L |
W vsT



9“ 77_- _’ lJ Dovetail

[HT 1
Folco[le
—

AB3 —DOCB3 —50— 70

:ISW

DHSHUHT—IICITT—I

@ TT7—ILOMZEEHET

OFREFY TT -V

MZERELTCHEFT, WHFINIUERT, HIDZEELLUET,

Pre-machining male Combines dovetail, Cut off unnecessary

dovetail on a workpiece tightening and machining portion
b oo o o o o o e e e e e e e e e e e e e e e e e e e e e e e e e e — — — -
r-r———H—-—m=—mm"""""""""""""""""""""""""""-"==-=-=-= A
: FITTF—=IVD—I5#ME Details of dovetail dimensions :
| W 0.1 |
| | Hoverope | M | he |
| £01 ha DOC 17.5 25 05 |
I 50 6010’ DOC 25 35 0.7 I
| 4 0> DoC 35 |
! DOC 50 55 |
: Doc 70 I
| DOC100 10.5 :
b oo o o o o o e e e e e e e e e e e e e e e e e e e e e e e e e e — — — -

CODE H | Hl | ¢¢ | W | Hz | G | sw

A 40—DOC 17.5—55 55 25 30 175 M 5 0.4

—DOC 25 -55 28 40 25 M 6 5 0.6

—DOC 35 -—-55 25 50 35 0.7

-DOC 50 -—60 60 30 70 50 5 8 1.2

A 63—DOC 25 -—65 65 27 40 25 3 6 1.2

—DOC 35 -—65 50 35 1.3

-—DOC 50 -70 70 30 70 50 5 M 8 6 1.8

—DOC 70 -—75 75 35 100 70 M10 8 3
A100—-DOC 35 =70 70 27 50 35 M 6 5 3.3
—DOC 50 -75 75 32 70 50 M 8 6 3.8
-—DOC 70 -75 35 100 70 M10 8 5

—DOC100 -85 85 40 140 100 10 7.7
r-r—--——"-"""-""-""-""--"""""""""""-"""-""""-"""-"""-"""-"""-"""-"""-""""-"""-"="-—-"="—""=—"=-= A
: D—IMIDFNE Procedures for machining a workpiece :
| |
| |
: D@ - - :
: =gl
| L |
| |
| |
| |
| |




75y:j7'jy b Flange mounting

Fig. 1 Fig. 3
AB3 — FP85 — 50 |
G1
—
| =
CODE Fig.. L | @D ¢D1¢D2@¢pD3 ¢d hi | ha| T T2 T3 |¢pd2/@ds G1 Gz
A 40—FP 40—-35 | 1 |35 | 40|32 | — | — | 25 |12| 4 |M4x 6| — — | — | — |MBx15 M4x 8 0.3
—FP 63—40 | 2 | 40| 63 50 10020 M5 55 M 6x20 05
A B3—FP 63—45 | 1 |45 | 63|50 | — | — | 40 |13| 5 |M5x 8| — — | — | — |M10%x20 | MBX10 0.9
—FP 85—50 | 2 |50 | 85 73 10085 M6 6.6 M10x25 1.2
—FP110—55 | 3 | 55 |110 95 MEx 9|M 8 9 |M10x30 1.7
A100—FP100—-55 | 1 |55 |100|85| — | — | 70 |17 | 7 |M8x12| — — | — | — |[M12x25 | M8x16 |3
—FP130—65 2 | 65 130 115 18858 M8 9 M12x35 42
—FP160—70 | 3 | 70 | 160 140 M8X12|m10 11 |[M12x40 5.3
BATYaY e75T5 eBROKR P e e e e e e e — A

W ZEMGER e Vy—RILNG) X1, ety hZXTUa(G2) X34
© MBHFFK/I\RIENR)L ~ EEBRDENMB) X 34 (AB3—FP85—50 / AB3—FP110—55)
$OBEOMBF v TR 2 FSHEAVCIZITEE A
K] Z o LVH—RILNCO—0%Z ISV TR LY hRXIU1GZZ AL IEEL,
M Option e Adapter e Positioner bos
M Standard e Center screw(G1) X1 pc. e Set screw(Ga) X3 pcs.
accessories o M6 special small head bolt(the head diameter size is the same as the M5 bolt.)

J—IBIIE

Work-piece mounting methods

Otvy—mRILER
Center bolt type

TYH—IRILNCTT—=TRILY

X3 pcs. (AB3—FP85—50 / AB3—FP110—55) t DTF—I\V vV IRIKDEELIF
*%Regular M8 cap screw doesn't fit. ESEH
H Note e Use the G2 set screw when you use the center blot to clamp the workpiece. The center bolt clamps the
P e e e e e e —— — - workpiece from behind the

. work holder taper shank.
U—OTEDER
Work-piece size indication
H=3Ds @I75VIRILER

Flange bolt type  o_,csyomTamL. O—
IRILF DRIV RIRITKRIL ~ &
BUCHMITE T,
Bolts clamp the work-piece
through the work holder bolt
holes. Tapping is required
on the workpiece.

W=1.4Df

¢Ds| Jo l D | |w=2Ds

@IZVIFvIR

Flange tap type
T—J[TINIV RFUINIIZET L,
D—ORILIDE v TR%EFIA
LTI E T,
The workpiece is clamped
using the thread on the work

fiiERDRA Positioner bos

FRIDMIERODUREFIERICERALE Y, ! -z
i o ‘ 1 « | Work
Ds

Use it when you need centering.

CODE | oDa | oDs|TNF517 Ds 2o e workpiagg,  roauired on
IRI5—A 40FP| 15 | 25 | A 40 |005| 43 I Set screw @75 TS E
78.027 T{i ‘ U — Using a adapter
IR25—A B3FP| 25 [ 40 | A 63 |0l - b [(mzem
-0.033 J % Chamfering surface Adapter
IR40—A100FP 040 70 A100 0.5 LSS4T ' EUS—RIL ~ KERIVYICTY TI%=ER
-0.038 Holder type Center screw IBILT. MEI—T%

BfFFDTEDNTEEXT,
The small workpiece is

BiE £ ety —NILITHMIFTEEL TS, ¢
QD IEHHNEBEFBEF BZEEBZEY FRIUATEELTLLZEL, mounted using a adapter

B Note e Affix it with the center bolt.When you do not want the workpiece with a large diameter holder.
to rotate, secure the chamfering surface using a set screw. L e e e e e ————— 4

L |
W vsT



PHTH Adapter

frEmIL ~(Ga)
Connecting blot

Ty bRTUa(Ge)
Set screw

RS—AB3-A40 H omys17
Holder type 2
[ — /1 [ o )
L = 1\ B L. .
. KIWFI14T -
CODE Fig. | ¢D | ¢ D1 ¢d H Ha H T G Gz Gs Holder type
RS—A 63—A40 1 40 32 25 12 4 50 M4 x 6 M 6x20 | M4x 8 | M5x16 A B3—FP 63—45 0.5
+o.083 —FP 85—50
—FP110—55
RS—A100—A40 2 40 32 25 12 4 60 M4 x 6 M 6x20 | M4x 8 | M8x25 A100—FP100—55 1.5
+0.053
10,020 —FP130—65
—FP160—70
RS—A100—A63 1 63 50 40 13 5 55 M5X8 M10x20 | MBX10 | M8x25 A100—FP100—55 1.7
10084 —FP130—65
—FP160—70
W REMBR ¢ TVY—MILMNGI) X147 ®ty hRUU2(G2) X35 eBEEMMILE (G3) X34
| K] Z o tUY—RILNTO—0ZIS VTl £y hRIU1GZ ERALEEL,
M Standard e Center screw(G1) X1 pc. e Set screw (G2) X3 pcs. e Fixing bolt (G3) X3 pcs.
accessories
M Note e Use the G2 set screw when you use the center bolt to clamp the workpiece.
3
BALRAIVU side screw
BALRATJYUaA side screw A
L
[
:
o
E MI o G1
B
o5 Ge
H
He
H1
e w BEERER  «/5YTAIUAKRG)ORIE) X2y
AB3—SCS10—55 = YW | Ri-] £ o USUTATUIKG)FENICEDETEELTLLZE L,
M5 |We2 M Standard eScrew with cup point(G1)(Dimple edge) X2 pcs.
i accessories
- J H Note eChoose the clamping screw (G1) for your application.
Cl |.05~1
-
CODE w ' Wh Wa B L L1 ¢C | H Ha Hza | G1 | Ga
A 40—SCS10—40 10.5 5~10 115 | 125 30 40 11 39 10 45 — — M 6| 0.3

A 63—SCS10—-55 105 5~10 |20 235 | 60 55 21 62 20 75| 17 M5 | M10 | 1.1
—SCS20—55 | 205 | 156~20 | 25 28.5

A100—SCS10—70 | 105 | 5~10 | 245 |29 80 | 70 | 26 99 25 9 20 M12 | 3.5
—SCS20—70 | 205 | 15~20 | 295 | 34
—SCS30—70 | 305 |25~ 30 | 345 | 39 3.6

L |
W vsT



PB4 RAXIUaB side screw B

S
(@]

=

(]
Do
©
©

GOV TARIIaK)
Large screw

©
©
©
2

il
C Tk

Ga(u5VTRIY i)
Small screw

H
2]
H1
— T
o
LS &MY 4X)
= Size of workpiece

L1 G3(PYvAKRRIY )
L Adjust screw
AB3 — SCD30— 70
F———————— =
CODE [0S° | L |L1 |@C| H Hi|Hz| G Gz | Gs | 957251 (G, Go) |
A 40—SCD20—-55 | 15~20 | 55 | 30 | 49 | 25 | 11 | — |M 8x16| M4x12 | M10 | 05 : Screw with cup point :
A 63—SCD20—65 | 15~20 | 65 | 30 | 49 | 25 | 11 | — |M 8x16| M4x12 |[MI10| 12 | |  standard seeussories |
—SCD25—70 20~25 | 70 | 35 | 56 | 30 8 | 20 1.3 | |
—SCD30—70 | 25~30 44 | 62 | 35 | 9 | 24 |M10x20| MEX12 14 | 1| RS O |
| Dimple edge I
—SCD40—85 [ 35~40 | 85 | 52 | 76 | 45 | 12 | 30 |M12x20| M6x12 1.9 | |
A100—SCD20—70 | 15~20| 70 | 30 | 49 | 26 | 11 — |[M 8X16| M4x12 | M10 | 3 | 473 Option I
—SCDh25—75 | 20~25 | 75 | 36 | 66 | 30 8 | 20 34 | |
—SCD30—80 | 25~30 | 80 62 | 35 9 | 24 |M10X20| M5x12 35 | ?}gﬁnd edge l/\l |
—SCD40—90 | 35~40 | 90 | 45 | 76 | 45 | 12 | 30 |M12x20| M6x 12 3.9 : :
BATVary eUSVTIATUa Ak bAUS FU%) | MU% |
B iFEMER oSV TRIUIK(G) (IMZF) x4y Sharp edge /\
| K £ e USUTRIUIKRGHRFENICEDETEEL TS, | |
H Option e Screw with cup point(Round edge, Sharp edge, Jagged edge) | |
M Standard accessories e Large screw(G1)(Dimple edge) x4 pcs. | FU4% |
M Note ® Choose the clamping screw (G 1) for your application. | Jagged edge m |
b e e e e e —— 4
INA R vise
INAL ZA Vise A INA ZB Vise B
'] o[l olo
Sy E' L o[lle[llellle| |go|110
W o o o o
= L = g
L .3 20 45
L B
25X (BAH—1)
(Number of grooves—1)
AB3 — DOV 110l AB3 — D0OVO0
CODE Os| w G L |L CODE BB w G L L1
grooves
A 63—DOV110I 110 (36~ 80|24 MBRZI0| 90/35 57| |A 63—DOV 90| 3 | 90/15~7020 "M3ATE) g5/35 38
A100—DOV140I 140 (36~110/52"M8&&10 1100 /99| |A100-DOVI40| 5 [140/15~7030 " M3&6100/35)77
W REMER e8mmABLYF B FEGER e8mmAALYF
| -] Z o FTHYITIUNIENT—IFRT—IIKLI T, W & Z o THIITIUMNIEND—IFRD—IRILITY,
HEICHU A X EEDS v T ERLEEL, MEICIH U A R EEOS v T SERLLIEEL,
M Standard, e 8mm hex rench W Standard, e 3mm hex rench
accessories accessories
M Note e Dedicated work holder for dove tail pre-machined workpiece. M Note e Dedicated work holder for dove tail pre-machined workpiece.

Please use screw hole on the top face as necessary.

we MST 3-KU-vay
Att- T35 T630-0142 RREAHMILAREAT 1738

TEL : 0743-78-1184 FAX : 0743-78-3854
http://www.mst-corp.co.jp

Please use screw hole on the top face as necessary.

MS T corporation

1738 Kitatahara lkoma Nara 630-0142 Japan
TEL:81-743-78-1931 FAX:81-743-78-3854
http://www.mst-corp.co.jp

121101020061 TC_¥yhI-p1 10k



